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J\ftth 5 54 36 4 47 34
K JI| BT 2 19 15 2 17 14
Bl st 1 22 14 1 17 11
Kixmh 0 0 0
=) 1 22 14 1 17 11
EZEAKHT 0 0 0
TR EE Hhis B 1 2 0 1 3 1
AEh
FRET - - - - - -
% R KRHT 1 2 0 1 3 1
ZAIE] - - - - - -
7K _E#t - - - 0 0 0
HEH - - - - - -
AARF - - - - - -
LT A - - - - - -
BREEFF - - - - - -
HIEFYHT
K Hhis 5t 14 177 94 8 97 56
LXES 1 15 6 1 15 6
XEH 11 137 72 5 57 34
= JL BT 2 25 16 2 25 16
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(6) MBSEVD

SRR 255 fE TR 264 FE
X5 et EFE IN#E= HfrE Bt TS INE= HfrE
ha t t ha t t
HEAE (&5 522 6.460 4.480 544 6.470 4450
BERE (BED) 195 1,964 1,434 190 2,074 1472
REARHhigi & 7 84 72 7 85 73
REARTH 7 84 72 7 85 73
Fig i ET 0 0 0 2 26 24
Fim - - -
Figh - - - - - -
S EH - - — 2 26 24
F £ HhigET 15 150 65 26 370 165
REM 5 50 25 5 50 25
EXA - - - - - -
FEERHET
T BE BT 10 100 40 10 100 40
R IMET - - - - - -
FN/KET - - — 11 220 100
EEA s et 15 180 135 15 180 135
(LEETh 15 180 135 15 180 135
3 thh i et 13 177 162 13 173 157
KIEHT 3 52 48 3 52 48
% 5 HT 10 125 114 10 121 109
] i dth 4k 51 34 408 350 34 415 353
fal & - - - - - -
/N E BT - - - - - -
JINEL:) - - - - - -
ELF - - - - - -
S - - - - - -
AaRF 34 408 350 34 415 353
B BT Ex At - - — - - -
i 5t 49 528 328 49 487 300
{EN fi BT
=B - - - - - -
2 3k BT 9 88 58 9 77 58
R {E HT - - - - - -
LI ZR BT 40 440 270 40 410 242
J\ i ET 2 25 1 1 16 8
J\RKm
K JI| BT 2 25 12 1 16 8
EdihiEgEt 8 59 39 7 55 35
KIETH 4 22 18 4 22 18
=) 1 12 10 0 8 6
EZEAKHT 3 25 11 3 25 11
TR EE Hhis B 39 266 218 34 249 208
AEh 17 26 26 17 26 26
FRET 8 192 160 8 192 160
% R KRHT 11 31 16 6 17 9
ZAIE]
KEF 1 1 1 1 1 1
HEF 2 10 9 2 10 9
AARH - - - 0 0 0
LT A
HIEFYHT 1 6 6 1 3 3
K Hhis 5t 13 87 53 2 18 14
LEXEmH 0 4 4 0 5 5
XEmH 11 70 40
= JL BT 2 13 9 2 13 9
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() F=Fh&E

SRR 255 fiE TR 264 FE
X5 EfTmETE IN#E= HfrE Bt TS INE= HfrE
ha t t ha t t
#HERE (RE) 335 10,800 8420 333 12,000 10,100
BERE (BED) 221 6,943 6,100 202 6,761 6,064
RERHhIZE 44 1,405 1,279 49 1,756 1,651
REARTH 44 1,405 1,279 49 1,756 1,651
Fig i ET 3 88 66 2 78 55
Ftm 1 0 0 0
Figh 0 10 10 0 0 0
S EH 2 78 56 2 78 55
E & i st 5 110 30 10 310 210
REM 3 60 25 3 60 25
EX il - - - - - -
EEHET
T BE BT 2 50 5 2 50 5
R IMET - - - - - -
FN/KET - - — 5 200 180
EEA s et 10 200 90 10 200 90
LEE T 10 200 90 10 200 90
3 thh i et 0 6 5 1 5 4
ithth
anm
KEET
% (5 ET 0 6 5 1 5 4
] i dth 4k 51 1 28 28 1 28 25
fal & - - - - - -
/N E BT - - - - - -
NESL:) - - - - - -
ELF - - - - - -
S - - - - - -
AR A 1 28 28 1 28 25
B BT Ex At - - — - - -
i 5t 5 123 102 5 126 105
{EN fi BT
=B - - - 0 3 3
5 35 AT 5 123 102 5 123 102
R {E HT - - - - - -
(LI ZRET
J\ i ET 20 600 542 15 400 375
J\KTH 20 600 542 15 400 375
JKJ I ET
EdihiEgEt 72 2,822 2,631 71 2,823 2,631
KIETH 45 1,990 1,870 45 1,850 1,740
=) 15 423 387 14 593 543
IR Z ARHT 12 409 374 12 380 348
TR EE Hhis B 6 156 143 9 251 231
AEh
FRET 3 120 111 5 200 185
% R KRHT 2 33 30 3 44 40
& AT 0 4 4
KEF 1 3 2 1 3 2
HEH - - - - - -
AARF - - - 0 0 0
LT A
BREEFF
HIEFYHT
K Hhis 5t 55 1,405 1,184 29 784 687
LXES 23 711 624 19 579 507
XEmH 25 540 420 3 55 50
Z 4L T 7 154 140 7 150 130
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(9) MALE

SRR 255 fE TR 264 FE
X5 EfTmETE IN#E= HfrE Bt TS INE= HfrE
ha t ha t t
HrEAE (RE) 1.140 25.400 1.100 25.000
BEERE(RED 521 10,470 8,924 490 10,284 8,960
REARHhigi & 13 252 164 8 155 104
REARTH 13 252 164 8 155 104
Fig i ET 8 100 8 160 100
Fim
EEET 8 100 8 160 100
F £ HhigET 32 792 912 38 1,138 882
REM 8 550 500 8 550 500
EX il - - - - - -
EEHET
T BE BT 8 110 80 14 206 50
R IMET 6 132 132 6 132 132
FN/KET 10 200 10 250 200
B A Hhisk 11 244 113 11 244 113
(LEETh 11 244 113 11 244 113
3 thh i et 129 2,976 2911 125 2,898 2,837
ithth 3 70 10 180 178
a&m 3 70 0 0 0
KEET 103 2,300 2,288 95 2,200 2,193
% (5 ET 20 524 483 20 518 466
] i dth 4k 51 130 2,790 2,455 140 2,996 2,628
Bl % T - - - - - -
/N E BT - - - - -
NESL) 10 150 55 10 140 50
ELF - - - - -
S - - - - -
AR A 120 2,640 2,400 130 2,856 2578
B BT Ex At - - - - - -
28k hig 5 119 2,032 1,723 129 2216 1878
{EN fi BT 2 27 1 14 13
=B 0 0 0
5 35 AT 117 2,002 1,696 128 2,202 1,865
R {E HT - - - - - -
LI ER T
J\ i ET 4 57 4 40 56
J\KTH 3 37 3 40 36
K JI| BT 1 20 1 20
EdihiEgEt 10 145 126 9 71 54
KIETH 1 2 1 15 5
=) 6 76 5 1 1
EZEAKHT 3 48 3 55 48
TR EE Hhis B 14 284 278 13 281 273
AEh 1 20 1 20 20
FRET - - 0 0 0
% R KRHT 2 16 2 34 27
& AT
KEF 0 0 0 0 0 0
HEF 0 8 7 0 7 6
A ARF - - - - - -
LTA 1 25
HIEFYHT 10 210 210 10 220 220
K Hhis 5t 51 916 85 5 85 35
LXES 2 15 2 40 15
XEmH 46 828 50
Z 4L T 3 20 3 45 20
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(10)-3 FRZ[ELELY

R 255 TR 264 FE
X5 EfTmETE IN#E= H & EfTmETE IN¥E=E HfrE
ha t t ha t t
R E (RED 283 9.030 1,060 218 8.760 6.830
BERE (BED) 114 3,751 3,095 101 3,210 2,747
REARHhigi & 11 952 876 11 952 876
BeRTH 11 952 876 11 952 876
Fif g T 4 110 80 4 110 75
FiHh
Figh - - - - - -
S EH 4 110 80 4 110 75
E 4 Hhigh st 3 350 250 3 350 250
REM - - - - - -
EX il - - - - - -
ERHAT - - - - - -
T BE BT 3 350 250 3 350 250
£ IMET - - - - - -
F0/K AT - - - - - -
FEAHh 15 5 25 830 715 25 830 715
WEEH 25 830 715 25 830 715
3 thh i et 38 397 358 37 263 236
&&H 0 27 24 0 0 0
KIEHT 3 243 218 2 142 128
% (5 ET 35 127 116 35 121 108
Bl ek dh 3k £ 3 73 59 3 70 60
Bl % T - - - - - -
F/NE T - - - - - -
NESL:) - - - - - -
ELF - - - - - -
S - - - - - -
Rt 3 73 59 3 70 60
B BT Ex At - - _ - = =
35 s 51 1 50 33 1 50 33
{EN fi BT
=B - - _ -
2 3k BT 50 33 50 33
B {&HT - - ~ - - -
LR T
I\t Hh i 5 9 405 300 7 315 285
I\ 9 405 300 7 315 285
JK I BT
EibhisEt 6 178 143 6 168 133
KIETH 2 50 40 2 50 40
=) 2 70 61 2 60 51
R KHET 2 58 42 2 58 42
Bk EE fhigh 5+ 3 133 123 2 72 64
ASTH
R ET 2 126 120 1 63 60
% R KRHT 1 7 3 1 9 4
KEF 0 0 0
HEF - - - - - -
AR - - - 0 0 0
LT A - - - - - -
EKEE#T
HIEFYHT
KE M ET 11 273 158 2 30 20
LXES 0 13 13 0 10 10
XEH 9 240 135
Z5LHT 2 20 10 2 20 10
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a1-1 FEexY

SRR 255 fE TR 264 FE
X5 et EFE IN#E= HfrE Bt TS INE= HfrE
ha t t ha t t
#HERE (RE) 283 9.540 8.720 307 11.400 10,500
BERE (BED) 187 6,264 5,425 210 6,549 5,802
REARHhigi & 67 1,680 1,430 67 1,730 1470
REATH 67 1,680 1,430 67 1,730 1,470
Fig i ET 2 50 38 2 50 36
FtmH
Figh - - - - - -
S EH 2 50 38 2 50 36
E4L& it 2 130 110 3 170 130
REW - - - - - -
EX il - - - - - -
EEXAT - - - - - -
T BE BT 2 130 110 2 130 110
R IMET - - - - - -
FN/KET - - — 1 40 20
EEA s et 5 135 100 5 135 100
LEE T 5 135 100 5 135 100
3 thh i et 0 15 14 1 14 13
anm
KEET
% (5 ET 0 15 14 1 14 13
] i dth 4k 51 10 377 295 17 141 104
Bl % T 7 288 240 15 101 84
/N E BT - - - - - -
NESL:) - - - - - -
ELF - - - - - -
= AR AT 1 49 44 - - -
AR A 2 40 11 2 40 20
B BT Ex At - - — - - -
i 5t 20 750 710 20 750 710
{EN fi BT
=B - - - - - -
5 35 AT 10 350 330 10 350 330
R {E HT - - - - - -
(LI ZRET 10 400 380 10 400 380
J\ i ET 70 2,800 2464 90 3,420 3,140
J\RKm 70 2,800 2,464 90 3,420 3,140
JKJ I ET
EdihiEgEt 3 87 65 3 83 58
KIETH 0 0 0
=) 2 62 52 2 58 45
EZEAKHT 1 25 13 1 25 13
TR EE Hhis B 1 24 19 1 19 14
AEh
FRET 0 0 0 - - -
% R KRHT 1 24 19 1 19 14
& AT
7K _E#t 0 0 0
HEH - - - - - -
A ARF - - - - - -
LT A - - - - - -
BREEFF
HIEFYHT
K Hhis 5t 7 216 180 1 37 27
LXES 0 6 6 0 7 7
XEmH 6 180 154
Z 4L T 1 30 20 1 30 20
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(11)-2 ERFrRY

SRR 255 fE TR 264 FE
X5 EfTmETE IN#E= HfrE Bt TS INE= HfrE
ha t t ha t t
SHAIE (2 5) 502 10,800 10,300 526 13,000 12,400
BERE (BED) 401 8,840 8,374 410 10,197 9,603
REARHhigi & 0 0 0 0 0 0
REARTH - - - — - -
Fig i ET 1 20 18 1 20 19
Fim - - - - - -
Figh - - - - - -
S EH 1 20 18 1 20 19
E & i st 0 0 0 0 0 0
REW - - - - - -
EX il - - - - - -
EEXAT - - - - - -
T BE BT 0 0 0 0 0 0
R IMET - - - - - -
FOoK BT - - - - — —
B A Hhisk 9 220 126 9 220 126
LEE T 9 220 126 9 220 126
3 thh i et 2 57 52 2 54 50
anm
KEET
% (5 ET 2 57 52 2 54 50
] i dth 4k 51 222 4879 4,635 226 5,638 5,356
Bl % T 155 3.410 3,240 159 3,980 3,780
F/NE T - - - - - -
NESL:) - - - - - -
ELF - - - - - -
S 66 1,450 1,380 66 1,640 1,560
AR A 1 19 15 1 18 16
B BT Ex At - - - - - -
28k hig 5 165 3,630 3,520 171 4250 4,040
{EN fi BT
=B - - - - - -
5 35 AT - - - - - -
B {&HT - - - - - -
LI ER T 165 3,630 3,52 171 4,25 4,040
J\ i ET 0 0 0 0 0 0
J\RKm
JKJ I ET
Bl st 1 14 12 1 13 11
Kixmh 0 0 0
=) 1 14 12 1 13 11
EZEAKHT 0 0 0
TR EE Hhis B 0 0 0 0 0 0
AEh
FRET - - - - - -
% R KRHT
& AT
KEF - - - 0 0 0
HEF - - - - - -
A ARF - - - - - -
LT A - - - - - -
BREEFF - - - - - -
HIEFYHT
K Hhis 5t 1 20 11 0 2 1
LEXEmH - - - - - -
XEmH 1 18 10
S ALHT 0 2 1 0 2 1
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(11)-3 ZFpAY

SRR 255 fE TR 264 FE
X5 EfTmETE IN#E= HfrE Bt TS INE= HfrE
ha t t ha t t
#ERE (25 553 20,600 17.900 546 19,700 17,200
BERE (BED) 402 14,517 12,491 383 13,471 11,601
REARHhigi & 6 226 199 6 224 193
REARTH 6 226 199 6 224 193
Fig i ET 0 0 0 0 0 0
Fim
Figh - - - - - -
EEET - — - - - -
F £ HhigET 15 690 595 16 730 615
REM 6 200 180 6 200 180
EX il 4 240 215 4 240 215
EEXAT - - - - - -
T BE BT 5 250 200 5 250 200
R IMET - - - - - -
FN/KET - - — 1 40 20
EEA s et 17 650 420 17 650 420
\LEETH 17 650 420 17 650 420
3 thh i et 0 0 0 2 40 40
ithth 1 27 27
a&m 1 13 13
KEET
% (5 ET
] i dth 4k 51 26 334 278 26 326 273
fal & 26 321 268 26 321 268
/N E BT - - - - - -
NESL) - - - - - -
ELF - - - - - -
= AR ET 0 13 10 0 5 5
AaRF - - - - - -
B BT Ex At - - - - — -
i 5t 24 912 830 24 780 665
{EN fi BT
=B - - - - - -
5 35 AT - - - - - -
R {E HT - - - - - -
LI &R ET 24 912 830 24 780 665
J\ i ET 294 11,200 9,790 280 10,330 9,080
J\tth 213 8,030 7,030 201 7,510 6,460
K JI| BT 81 3,170 2,760 79 2,820 2,620
EdihiEgEt 6 155 125 6 155 122
KIETH 3 70 65 3 70 65
=) 2 60 48 2 60 45
EZEAKHT 1 25 12 1 25 12
TR EE Hhis B 1 12 11 3 108 96
AEh
FRET 1 5 5 2 94 90
% R KRHT 0 7 6 1 14 6
& AT
K E# - - - - - -
HEH - - - - - -
A ARF - - - - - -
LT A - - - - - -
BREEFF
HIEFYHT
K Hhis 5t 13 338 243 4 127 97
LXES 0 8 8 0 7 7
XEmH 9 210 145
Z 4L T 4 120 90 4 120 90
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(13) [E>NAES

SRR 255 fE R 264F
X5 et EFE IN#E= HfrE Bt TS INE= HfrE
ha t t ha t t
HrERE (REH) 479 6.130 5,400 482 6.170 5.430
BERE (BED) 243 2,506 2,297 247 2,520 2,357
REARHhigi & 28 364 302 30 380 361
REARTH 28 364 302 30 380 361
Fig i ET 2 26 20 2 26 20
FtmH
Figh - - - - - -
S EH 2 26 20 2 26 20
E & i st 3 70 35 3 70 35
REW - - - - - -
EX il - - - - - -
EEXAT - - - - - -
T BE BT 3 70 35 3 70 35
R IMET - - - - - -
FOoK BT - - - - — —
EEA s et 8 100 81 6 64 51
LEE T 8 100 81 6 64 51
3 thh i et 15 167 155 15 173 160
ithth 0 3 3
a&m 6 62 60 6 70 66
KEET
% 5 HT 9 102 92 9 103 94
] i dth 4k 51 127 847 797 122 847 791
fal & 3 15 10 3 15 10
F/NE T 42 277 263 39 270 250
INES]:) 66 436 414 64 443 421
ELF 14 112 106 14 112 106
S 1 5 3 1 5 3
AR A 1 2 1 1 2 1
B BT Ex At - - - - - -
i 5t 13 168 157 13 168 159
{EN fi BT
=B - - - - - -
2 3k BT 0 5 2 0 5 2
R {E HT - - - - - -
(LI ZRET 13 163 155 13 163 157
J\ i ET 0 0 0 0 0 0
J\ftth
JKJ I ET
EdihiEgEt 4 53 46 4 52 44
KIETH 1 15 15 1 15 15
=) 2 26 22 2 25 20
EZEAKHT 1 12 9 1 12 9
TR EE Hhis B 40 673 670 51 726 724
AEh
FRET 0 0 0 0 0 0
% R KRHT 1 16 13 1 12 10
& AT 10 102 102 11 115 115
KEF 0 0
HEH - - - - - -
A ARF - - - - - -
LT A - - - - - -
HIEFYHT 28 555 555 39 599 599
K Hhis 5t 4 38 34 1 14 12
LXES 0 5 5 0 5 5
XEmH 3 24 22
Z 4L T 1 9 7 1 9 7
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(15) PRINTGHRA

SRR 255 fE TR 264 FE
X5 EfTmETE IN#E= HfrE Bt TS INE= HfrE
ha t t ha t t
HEAME (RED 108 2210 2010 106 2.120 1310
BERE (BED) 88 1,773 1,605 128 1,871 1,721
REARHhigi & 5 125 114 5 121 115
REARTH 5 125 114 5 121 115
Fig i ET 10 170 157 11 166 153
Ftm 0 7 6 0 0 0
Figh 2 33 31 3 36 33
EEET 8 130 120 8 130 120
E4L& it 7 78 74 45 73 70
REW - - - - - -
E4Th 5 59 58 43 55 54
EEXAT
T BE BT
£ IMET 0 2 2 0 1 1
FN/KET 2 17 15 2 17 15
EEA s et 21 350 300 20 350 300
LEE T 21 350 300 20 350 300
3 thh i et 8 117 107 7 125 114
ithth 7 100 95 6 109 99
a&m 1 15 10 1 14 13
KEET
% 5 HT 0 2 2 0 2 2
] i dth 4k 51 23 607 567 26 668 633
Bl % T 16 400 377 17 450 419
F/NE T 0 4 3 0 4 3
NESL) 0 17 16 0 17 16
ELF 1 16 16 1 23 23
S 1 22 20 1 22 20
AaRF 0 3 3 0 3 3
B BT Ex At 5 145 132 6 149 149
i 5t 0 0 0 0 0 0
{EN fi BT - - - - - -
=B - - - - - -
5 35 AT - - - - - -
R {E HT - - - - - -
(LI ZRET - - — - - -
J\ i ET 9 251 230 11 313 297
J\KTH 7 196 178 9 261 247
K JI| BT 2 55 52 2 52 50
EdihiEgEt 1 22 15 1 21 15
KIETH 0 0 0
=) 1 22 15 1 21 15
R KHET - - - 0 0 0
TR EE Hhis B 1 10 6 1 12 7
AEh
FRET 0 0 0 - - -
% R KRHT 1 4 0 1 5 0
& AT 0 4 4 0 5 5
KEF 0 2 2 0 2 2
HEH - - - - - -
A ARF - - - - - -
LT A - - - - - -
BREEFF - - - - - -
HIEFYHT
K Hhis 5t 3 43 35 1 22 17
LEXEmH 0 4 3 0 4 3
XEmH 2 23 20 0 2 2
Z 4L T 1 16 12 1 16 12
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(17) Zayal)—

SRR 255 fE TR 264 FE
X5 et EFE IN#E= HfrE Bt TS INE= HfrE
ha t t ha t t
#HERE (RE) 241 2,890 2,480 274 3.260 2,790
BERE (BED) 298 2,724 2,364 406 3,862 3,390
REARHhigi & 6 77 66 6 77 66
REARTH 6 77 66 6 77 66
Fig i ET 1 13 12 1 13 12
FtmH
Figh - - - - - -
EEET 1 13 12 1 13 12
E & i st 2 40 28 2 40 28
mE™ 1 20 18 1 20 18
EX il - - - - - -
EEXAT - - - - - -
T BE BT 1 20 10 1 20 10
R IMET - - - - - -
FN/KET - - — 0 0 0
B A Hhisk 8 145 127 8 145 127
\LEETH 8 145 127 8 145 127
3 thh i et 1 14 13 1 13 12
Zithth
anm
KEET
% (5 ET 1 14 13 1 13 12
Bl ek dh 3k £ 0 0 0 0 0 0
fal & - - - - - -
/N E BT - - - - - -
NESL:) - - - - - -
ELF - - - - - -
S - - - - - -
AaRF - - - - - -
B BT Ex At - - — - - -
i 5t 2 16 14 1 15 13
{EN fi BT 1 1 1
=B - - - - - -
5 35 AT 1 15 13 1 15 13
R {E HT - - - - - -
(LI ZRET
J\ i ET 260 2,280 1,987 370 3,420 3,008
J\RKm 240 2,040 1,795 340 3,060 2,720
K JI| BT 20 240 192 30 360 288
EdihiEgEt 2 27 21 2 27 20
KIETH 1 11 8 1 11 8
=) 1 11 9 1 11 8
R KHET 0 5 4 0 5 4
TR EE Hhis B 12 62 60 12 79 78
AEh 0 1 1 0 1 1
FRET 1 13 12 0 10 10
% R KRHT 3 8 8 5 15 15
& AT 1 4 4 1 6 5
7K _E#t - - - 0 0 0
HEF 0 8 7 0 4 4
A ARF - - - - - -
LT A
EKEE#T 1 5 5 1 8 8
HIEFYHT 6 23 23 5 35 35
K Hhis 5t 5 50 36 3 33 26
LXES 0 5 5 0 5 5
XEmH 3 27 16 1 10 9
Z 4L T 2 18 15 2 18 12
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(19)-3 MEBHRF

R 255 TR 264 FE
X5 EfTmETE IN#E= HfrE Bt TS INE= HfrE
ha t t ha t t
iR (8EH) 157 3.080 2,220 159 3.160 2,340
BERE (BED) 80 1,355 1,185 72 1,040 907
REARHhigi & 14 217 191 15 215 204
REARTH 14 217 191 15 215 204
Fig i ET 2 38 29 3 38 29
Fim - - - - - -
Figh 0 9 9 1 9 9
S EH 2 29 20 2 29 20
E & i st 9 103 85 2 40 22
REM 1 20 12 1 20 12
EX il - - - - - -
EEXAT - - - - - -
T BE BT 1 20 10 1 20 10
£ IMET 7 63 63 - - -
FN/KET - - - - - -
FE AR Hhigh 5t 5 90 50 5 90 50
LLUEE™H 5 90 50 5 90 50
it hisi T 12 118 106 13 213 203
Fimth 10 80 70 11 171 163
KIEHT 2 38 36 2 42 40
Bl ek dh 3k £ 3 51 45 4 56 51
Bl % T - - - - - -
F/NE T - - - - - -
NESL) - - - - - -
ELF - - - - - -
= AR AT 1 31 27 2 33 30
AR A 1 5 4 1 5 4
B BT Ex At 1 15 14 1 18 18
383 b ik 5 8 124 112 8 135 120
{EN fi BT - - - - - -
=B - - - - - -
2 3k BT 5 111 100 5 122 110
B {&HT - - - - - -
LI ER T 3 13 12 3 13 10
I\t Hh i 5 8 105 95 9 110 100
J\KTH 2 44 40 2 44 40
JKJ I ET 6 61 55 7 66 60
EdihiEgEt 2 25 22 2 24 20
KIETH 1 15 13 1 15 12
=) 0 2 2 0 1 1
EZEAKHT 1 8 7 1 8 7
TR EE Hh i £ 12 424 415 11 109 100
AEh 2 31 31 1 23 23
FRET 1 17 15 1 21 20
% R KRHT 2 20 13 2 23 15
KEF 0 0
HEF - - - - -
A ARF - - - - - -
LT A - - - - - -
BREEHS 0 6 6 0 0 0
HEVET 7 350 350 7 42 42
K Hhis 5t 5 60 35 1 10 8
LXES 0 2 2 0 2 2
XKEH 4 48 25
Z5LHT 1 10 8 1 8 6

35




(20) 25

SRR 255 fE

FR265EE

YR+ EE

INEE

YRS

INEE

>
[V

>
[V

|-h
~

|-h
>~

w
S

1,014

w
(S,

1,011

946

S
IS

N
>

REAT

N~
>

S
kS

o
N [N

=T

o

(=)

(=)

Fim

FHH

-]

E & thigct

REW

Eamh

FERA

e ST T

FINET

FN/KET

BEAHhizi it

LI EE T

g 5t

it

Plojolol i prprirjolrr]ljol=|=

PJojolol el

P lojolol i lritlijol 1l

Plojolol i prprjriirjelrjr]ljol=|=

PJojolol el

P Jojlolol il lijolr il

=il

KiEHET

%[5 HT

el gk th tek 51

Brl &5

7 /)N E BT

NESL)

EELLAT

= AR AT

78 R

Flrlrfrprjrjel: |

Lol [

e Bl R A

Ll prprnjel i

Lol i

Lt jol: |

E Zeyk st

930

865

w
w

868

N BT

= ST

34

31

56

o SR T

395

365

438

FH A HT

300

280

234

LI T

159

151

140

J\ K higi st

_L
—|=|lojoa|=|=IN]1|1][1L|1]1]1]1]|ao] |} [

40

36

—|=|lo|o|o | o|:

36

AN v 7]

40

36

JKJII BT

Eitihigist

ol

KIETH

FALHT

[=3H

R AHT

[=}

BREEHhigi 5t

(=)

olo|o/o|o]:

ololololol:

AT

RET

[=3K

o i

[«3H

% R KHT

i I BT

KEF

HEH

HRH

T #

BREEA

Lol |

1L o] I

| 11|l o]l

HSEYHT

KE Mg ET

[=1H

ol

[=1H

EXEM

HEE=] (=)

Hll=] (=)

Hl=] (=)

XEH

=]

=)

=]

ZbEy

36




REH-E8

21)-1 Z2FZEPIY

R 255 TR 264 FE
X5 EfTmETE IN#E= HEr= EfTmETE IN¥E=E HfrE
ha t t ha t t
HEAfE (REH 13 6,000 5.610 19 6.920 6.640
BERE (BED) 65 5,406 5,025 70 6,007 5411
REARHhigi & 29 2,570 2,420 34 3,210 2,880
REARTH 29 2,570 2,420 34 3.210 2.880
Fif g T 14 1,398 1,305 14 1,372 1,200
Ftm 10 1,010 933 10 991 855
Figmh 4 388 372 4 381 345
EEET - - - - - -
E £ Hhig 5 0 0 0 0 0 0
REM - - - - - -
EX il - - - - - -
EEXAT - - - - -
T BE BT
£ IMET - - - - - -
FN/KET - - -
B A Hhisk 5 19 170 6 318 298
e 5 190 170 6 318 298
FhithigEt 0 0 0 0 0 0
KEET
] i dth 4k 51 2 134 103 1 54 43
Bl % T - - - - - -
F/NE T 1 56 43 1 54 43
INEHT 1 78 60 - - -
ELF - - - - -
S - - - - - -
AaRF - - - - -
B BT Ex At - - - - - -
35 s 51 5 372 340 5 372 340
{EN fi BT - - - - - -
=B 0 - -
IR ET 5 372 340 372 340
B {&HT - - - - -
(LI ZRET - - -
J\ i ET 0 0
J\ KX
JK I BT
EdihiEgEt 1 49 43 1 49 42
KIETH 0 0 0
EdvET 1 44 39 1 44 38
R KHET 0 5 4 0 5 4
TR EE Hhis B 0 16 15 1 36 33
ASTH
FRET 0 0 0 0 0 0
% R KRHT 0 16 15 1 36 33
KEF - - - 0 0 0
HEF - - - - - -
A ARF
LT A
EKEE#T
HIEFYHT
X B Hhis 1 9 677 629 8 596 575
LXES 4 292 282 4 268 258
XEH 4 350 327 4 313 307
Z 4L T 1 35 20 0 15 10
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21)-2 BE#MZEWIY

R 255 TR 264 FE

X5 EfTmETE IN#E= HfrE EfTmETE IN¥E=E HfrE
ha t t ha t t
#RaERfE (REH) 224 8.020 1.140 220 1.660 6.880
BERE (BED) 175 6,430 5,839 173 6,442 5,808
REARHhigi & 41 1,400 1,310 41 1,570 1,420
BEARTH 41 1,400 1,310 41 1,570 1,420
Fif g T 2 104 90 2 94 83
FtmH
Figh - - - - - -
EEmT 2 104 90 2 94 83
E4L& it 1 10 6 3 90 76
FEM 1 10 6 1 10 6
EX il - - - - - -
EEXAT - - - - - -
T BE BT 2 80 70
£ IMET - - - - - -
FN/KET - - - - - -
BE A Hhigh 5t 12 290 250 11 288 253
e 12 290 250 1 288 253
3 thh i et 16 434 365 15 469 396
i 4 112 90 3 88 yal
=il 12 300 255 12 360 306
% 5 HT 0 22 20 0 21 19
] i dth 4k 51 20 1,071 964 20 1,004 907
fA] &% Th 3 180 162 3 174 157
A/ INE BT 10 520 468 10 480 435
INEIET 1 371 334 1 350 315
ELF - - - - - -
S - - - - - -
AaRF - - - - - -
B BT Ex At - - - - - -
35 s 51 21 846 745 21 805 716
{ENfin BT 1 2 2 1 7 6
= SR 0 0 6 6
2 3k BT 4 124 110 4 120 106
B {&HT - - - - - -
LI ER T 16 720 633 16 672 598
J\Hh g ET 0 8 7 0 8 7
I\ 0 5 5 0 5 5
K JI| BT 0 3 2 0 3 2
EdihiEgEt 6 148 142 6 146 141
KIETH 1 40 38 1 40 38
=) 4 93 91 4 91 90
JEZS KHT 1 15 13 1 15 13
R EE Hhigi 5 37 1,595 1,521 37 1,493 1,417
ASH 1 42 42 1 22 22
S5/ 2 119 109 3 210 200
% R KRHT 21 737 679 21 730 673
& AT 2 93 93 2 76 74
KEF 1 50 45 1 33 28
HEF 0 17 16 0 8 6
AARF
L;THF 0 10 10 0 6 6
EKEE#T - - - - - -
HIEFYHT 10 527 527 9 408 408
K Hhis 5t 19 524 439 17 475 392
LtXEMH 10 250 235 9 230 220
XEH 8 253 187 8 235 167
Z 4L T 1 21 17 0 10 5
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(22) MIxBe

R 255 TR 264 FE

X5 EfTmETE INF#EE HEr= EfTmETE IN¥E=E HE=
ha t t ha t t
WERE (B 125 2,350 1,840 oo o i)
BERE (BED) 114 1,284 1,097 112 1,269 1,072
REARHhigi & 9 289 276 9 289 276
BEATH 9 289 276 9 289 276
Fif g T 7 60 58 7 58 55
FiHh
Fikh 0 0 0 0 0 0
S EH 7 60 58 7 58 55
E 4 Hhigh st 23 82 74 22 89 80
EEH 2 14 11 2 13 12
E4Th - - - - - -
E AT 13 20 18 13 20 18
T BE T 3 25 24 3 25 24
£ IMET 4 15 15 0 1 1
FN/KET 1 8 6 4 30 25
EEA s et 9 210 155 8 182 134
BT 9 210 155 8 182 134
3 thh i et 0 5 5 3 19 19
i
Nl 3 14 14
% (5 ET 0 5 5 0 5 5
Bl ek dh 3k £ 29 35 30 24 30 22
Bl % T - - - - - -
F/NE T - - - - - -
NESL) - - - - - -
ELF - - - - - -
S - - - - - -
AR A 29 35 30 24 30 22
B BT Ex At - - _ - = <
35 s 51 11 270 205 14 351 267
{ENfin BT 1 6 5 1 2 2
= SR 0 0 6 5
2 3k BT 10 264 200 13 343 260
B {&HT - ~ - - - -
LI ZRET
I\t Hh i 5 2 30 27 2 23 20
J\KTH 1 8 7 1 8 7
Ik JI BT 1 22 20 1 15 13
EdihiEgEt 1 43 38 1 38 33
KIETH 0 0 0
=) 1 40 36 1 35 31
R KHET 0 3 2 0 3 2
TR EE Hhis B 7 37 22 7 29 21
ASH 0 2 2 1 2 2
FmET 1 5 4 1 7 7
% R KRHT 5 17 4 3 9 2
KEF 0 0 0
HEF 0 2 1 0 2 1
E N 0 0 0
L;THF 0 1 1 1 3 3
EKEE#T 0 1 1 0 0 0
HIEFYHT 1 10 10 1 6 6
KE M ET 16 223 207 16 161 145
LXES 1 22 19 2 21 20
XEH 12 165 158 11 110 100
Z 4L T 3 36 30 3 30 25
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(23)-1 B&HELET

R 255 TR 264 FE
X5 EfTmETE IN#E= HfrE Bt TS INE= HfrE
ha t t ha t t
A S (B E) 162 23,800 22.400 166 25.200 23,900
BERE (BED) 165 24,232 22,729 170 25,766 24,364
REARHhigi & 122 18,800 17,800 126 20,200 19,200
BEARTH 122 18,800 17,800 126 20,200 19,200
Fif g T 19 2,565 2,315 19 2,685 2,461
Fth 3 405 365 3 425 391
Figmh 16 2,160 1,950 16 2,260 2,070
EEET - - - - - -
E 4 Hhigh st 13 1,710 1,547 14 1,780 1,685
REW X X X X X X
E4Th 8 1,160 1,050 9 1,280 1,220
EEXAT - - - - - -
T BE T 1 110 97 1 100 91
R IMET - - - - - -
F0/K BT 4 440 400 4 400 374
FEAHh 15 5 3 300 270 2 191 172
e 3 300 2170 2 191 172
Zith sk 5t 0 0 0 0 0 0
i
anm
KEET
% 5 HT
] i dth 4k 51 0 0 0
fal & - - - -
F/NE T - - - - - -
NESL:) - - - - - -
ELF - - - - - -
S - - - - - -
AaRF - - - - - -
B BT Ex At - - _ - - -
35 s 51 5 643 609 5 707 669
{EN fi BT - - - - - -
=B 0 - - -
IR ET 5 643 609 5 707 669
B {&HT - - = - - -
(LI ZRET - - - - - -
I\t Hh i 5 2 188 169 2 171 154
J\RTH 1 100 90 1 100 90
JKJ I ET 1 88 79 1 71 64
EdihiEgEt 1 17 12 1 17 12
KIETH 0 0 0
=) 1 17 12 1 17 12
R KHET 0 0 0 0 0 0
TR EE Hhis B 0 8 6 1 15 1
AEh
FRET - - - -
% R KRHT 0 1 13 10
& AT - - - -
K EF - - - 0 0 0
HEF - - - 0 2 1
A ARF
LT A - - - - - -
HIEFYHT
KEHIFET 0 1 1 0 0 0
LXES 0 1 1 0 0 0
XEmH
ZJLET - - -
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(23)-2 EMHET

R 255 TR 264 FE
X5 EfTmETE INF#EE HEr= EfTmETE IN¥E=E HfrE
ha t t ha t t
HEERME (R 236 1170 6.140 242 8.350 de
BERE (BED) 119 4,545 4,071 122 4,899 4 455
REARHhigi & 40 1,500 1,360 45 1,880 1,740
REATH 40 1,500 1,360 45 1,880 1,740
Fif g T 2 185 178 2 184 178
FiHh
FIiH 2 176 170 2 175 170
S EH 0 9 8 0 9 8
E 4 Hhigh st 23 1,073 955 23 1,198 1,099
EEH 2 84 72 2 96 85
E4Th 3 126 107 3 144 129
ERHAT - 8 6 - 8 6
T BE T 3 150 135 3 162 150
£ IMET - - - - - -
FN/KET 15 705 635 15 788 729
FEAHh 15 5 24 760 653 24 760 653
BT 24 760 653 24 760 653
FhithigEt 0 1 1 0 1 1
ithth
a&m
% (5 ET 0 1 1 0 1 1
] i dth 4k 51 3 285 239 3 265 221
Bl % T - - - - - -
F/NE T - - - - - -
NESL:) - - - - - -
ELF - - - - - -
S 3 285 239 3 265 221
AR A - - - - - -
B BT Ex At - - _ - - -
35 s 51 3 80 70 3 123 110
{ENfin BT 1 50 46 1 57 55
=B 0 0 30 27
2 3k BT 2 30 24 2 36 28
B {&HT - - - - - -
(LI ZRET - - - - - -
I\t Hh i 5 3 55 50 3 55 50
I\ 3 55 50 3 55 50
JK I BT
EdihiEgEt 5 84 76 5 81 73
KIETH 1 20 15 1 20 15
=) 3 51 50 3 48 47
EZEAKHT 1 13 11 1 13 11
R EE Hhigi 5 11 429 425 13 319 304
ASTH 0 9 9 0 9 9
FmET 0 22 21 1 19 19
% R KRHT 8 198 198 9 150 146
& AT 1 83 83 1 88 80
K EFt 1 49 46 1 33 30
HEF 0 0 0 0 0 0
AARF
L;THF 0 16 16 0 16 16
HIEFYHT 1 52 52 0 4 4
K Hhis 5t 5 93 64 1 33 26
LXES 0 6 6 0 8 8
XEH 4 57 38
S ALHT 1 30 20 1 25 18
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(24)-1 BREMFINIARUVIZIIMED)

R 255 TR 264 FE
X5 EfTmETE IN#E= HfrE Bt TS INE= HfrE
ha t t ha t t
A S (B E) 754 96,500 93.900 782 100,900 98,300
BERE (BED) 755 99,745 96,818 790 105,347 102,683
REARHhigi & 64 9,600 9,312 77 11,550 11,319
REARTH 64 9,600 9,312 77 11,550 11,319
Fif g T 89 6,970 6,600 89 7,340 7,150
F+H 17 1.320 1,260 117 1,400 1,360
FiRTH 72 5,650 5,340 72 5,940 5,790
EEET - - - - - -
E 4 Hhigh st 199 30,340 29,595 202 30,900 30,125
REW X X X X X X
EX il 181 27,900 27.200 184 28,500 27,800
T BE BT 3 180 165 3 180 165
£ M ET 15 2.260 2,230 15 2.220 2,160
FN/KET X X X X X X
BE A Hhigh 5t 1 90 70 1 60 56
g 1 90 70 1 60 56
3 thh i et 2 70 64 2 96 84
ithth 0 28 22
anm
% 5 HT 2 70 64 2 68 62
Bl ek dh 3k £ 0 0 0 0 0 0
fal & - - - - - -
/N E BT - - - - - -
NESL:) - - - - - -
ELF - - - - - -
S - - - - - -
AaRF - - - - - -
B BT Ex At - - - - - -
35 s 51 9 646 576 7 740 685
{EN fi BT - - - = - -
=B 3 270 245 1 364 354
IR ET 6 376 331 6 376 331
R {E HT - - = - - -
LI ER T - - - - - -
I\t Hh i 5 376 50,670 49,260 399 53,180 51,830
I\ 356 48.100 46,800 382 50,900 49.700
JKJI BT 20 2,570 2,460 17 2,280 2.130
Edtithish 1 0 11 13 0 5 4
KIETH 0 0 0
=) 0 6 9 0 0 0
R KHET 0 5 4 0 5 4
R EE Hhigi 5 10 982 977 9 1,125 1,106
ASTH
FRET 0 0 0 0 11 11
% R KRHT 1 121 121 1 130 124
& AT 0 60 60 0 58 55
KEF - - - 0 0 0
HEF 1 85 80 1 80 70
A ARF
LT A - - - - - -
HIEFYHT 7 716 716 7 846 846
KEHIFET 5 366 351 4 351 324
LXES 1 46 44 0 4 4
XEH 3 170 167 2 162 140
=LET 1 150 140 2 185 180
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(24)-2 BEMFTFINITARUVIZMRMED)

R 255 TR 264 FE
X5 EfTmETE IN#E= HfrE EfTmETE IN¥E=E HfrE
ha t t ha t t
A S (B E) 386 22.200 20,700 426 24,800 23,600
BERE (BED) 354 21,794 20,507 373 23,801 22,739
REARHhigi & 35 721 661 35 904 852
REARTH 35 7121 661 35 904 852
Fif g T 56 1,440 1,408 63 2,275 2,226
Fih 10 170 160 10 235 228
Figmh 45 1,260 1,240 52 2,030 1,990
S EH 1 10 8 1 10 8
E & thisiEt 0 0 0 0 0 0
REW - - - - - -
EX il - - - - - -
EEXAT
T BE BT
£ IMET - - - - - -
FN/KET - - - - - -
B A Hhisk 8 235 165 8 235 165
WEEH 8 235 165 8 235 165
FhithigEt 0 0 0 0 0 0
ithth
a&m
KEET
] i dth 4k 51 73 7,134 6,615 85 8,181 7,781
Bl % T 42 4,540 4,160 52 5,540 5,270
[EpNEL) 0 26 20 0 26 22
NESL:) - - - - - -
ELF X X X X X X
S 4 323 307 S 375 359
AR A 1 35 28
A Bl ER A+ 26 2,210 2,100 28 2,240 2,130
35 s 51 71 4,650 4,385 76 5,030 4,821
fE A BT 2 50 40 3 920 12
=B 2 50 45 3 920 81
5 355 T 4 100 90 5 150 138
B {&HT - - - - - -
(LI ZRET 63 4,450 4210 65 4,700 4,530
I\t Hh i 5 98 6,633 6,354 93 6,144 5,904
J\KTH 93 6.300 6.040 88 5.820 5,590
JKJI BT 5} 333 314 i) 324 314
EdihiEgEt 2 139 119 2 85 72
KIETH 1 55 50 1 55 50
=) 1 54 47 0 0 0
EZEAKHT 0 30 22 1 30 22
R EE Hhigi 5 11 823 787 11 938 911
ASTH
FmET 0 0 0 0 11 11
% R KRHT 4 107 71 4 81 54
& AT
KEF
HEF - - -
AR 0 0
LT A
HIEFYHT 7 716 716 7 846 846
KEHIFET 0 19 13 0 9 7
LXEmH 0 4 4 0 4 4
XEmH 0 10 6
Z 4L T 0 5 3 0 5 3
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(25)-1 BEFIMDSE,ZZFTH

R 255 TR 264 FE
X5 EfTmETE IN#E= HfrE Bt TS IN¥E=E HfrE
ha t t ha t t
HEAE (B2 245 23,300 22,300 261 25,300 24,800
BERE (BED) 236 22,928 22,349 252 23,287 22,696
REARHhigi & 17 1,530 1,469 20 1,902 1,826
BeRTH 17 1,530 1,469 20 1,902 1,826
Fif g T 46 4,133 4,038 44 3,850 3,809
Ftm 10 900 850 8 650 639
FiRTH 36 3,233 3,188 36 3,200 3,170
EEET - - - - - -
E 4 Hhigh st 92 10,335 10,292 105 10,568 10,521
EEH 0 27 25 0 27 25
EX il 82 9,306 9,265 95 9,640 9,600
EEXAT
EIMET 9 1,002 1,002 9 890 886
FN/KET - - - 1 11 10
A I 5 0 0 0
g 0 0 0
3 thh i et 1 67 63 2 87 72
it 0 13 12 0 28 22
&&H 0 20 20 0 28 22
% 5 HT 1 34 31 1 31 28
Bl ek dh 3k £ 0 0 0 0 0 0
Bl % T - - - - - -
F/NE T - - - - - -
NESL:) - - - - - -
ELF - - - - - -
S - - - - - -
AaRF - - - - - -
B BT Ex At - - _ - - -
35 s 51 7 428 371 6 403 352
{ENfin BT
=B 1 98 90 0 73 71
2 3k BT 6 330 281 6 330 281
B {&HT - - - - - -
LR T
I\t Hh i 5 68 6,038 5,737 70 6,061 5,732
I\ 65 5,850 5558 65 5,686 5402
K JI| BT 3 188 179 5 375 330
EdihiEgEt 0 11 9 2 21 18
KIETH 0 0 0
=) 0 6 5 2 16 14
R KHET 0 5 4 0 5 4
TR EE Hhis B 0 22 20 0 11 1
ASTH
FmET 0 22 20 0 11 11
% R KRHT
& AT
KEF - - -
HEF - - -
A ARF
LT A
EKEE#T
HIEFYHT
K Hhis 5t 5 364 349 4 384 355
LXES 1 44 42 1 37 35
XEH 3 170 167 2 162 140
Z5LHT 1 150 140 1 185 180
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(26)-2 EME—T>

R 255 TR 264 FE
X5 EfTmETE IN#E= HfrE Bt TS IN¥E=E HfrE
ha t t ha t t
HERTE (REH 5 2320 2.100 15 2420 2150
BERE (BED) 48 2,116 1,960 46 1,968 1,829
REARHhigi & 4 89 76 4 89 76
BeRTH 4 89 76 4 89 76
Fif g T 1 10 8 1 10 8
Fim - - - - - -
S EH 1 10 8 1 10 8
E 4 Hhigh st 1 20 15 1 20 15
REW - - - - - -
EX il - - - - - -
T BE T 1 20 15 1 20 15
R IMET - - - - - -
7K T - - - - - -
BE A Hhigh 5t 2 52 42 2 52 42
LLUEE™H 2 52 42 2 52 42
3 thh i et 0 17 16 0 15 13
Ztth
% 5 HT 0 17 16 0 15 13
] i dth 4k 51 3 96 83 3 94 81
Bl % T - - - - - -
F/NE T - - - - - -
NESL:) - - - - - -
ELF - - - - - -
S 2 68 62 2 68 62
AaRF - - - - - -
A Bl ER A+ 1 28 21 1 26 19
35 s 51 31 1,603 1514 31 1,618 1,539
fE A BT 2 46 44 2 51 49
=B - - - - - -
2 3k BT 2 67 60 2 67 60
B {&HT - - - - - -
L ER AT 27 1,490 1,410 27 1,500 1,430
I\ HhigEt 0 4 3 0 4 3
J\KTH 0 4 3 0 4 3
JK I BT
EdihiEgEt 3 48 39 3 47 38
KIETH 1 15 11 1 15 11
EdvET 1 24 22 1 23 21
EZEAKHT 1 9 6 1 9 6
TR EE Hhis B 0 1 1 1 13 10
ASTH
FRET 0 0 0 0 0 0
% R KRHT 0 1 1 1 13 10
KEF - - - 0 0 0
HEF - - - - - -
A ARF
LT A
HIEFYHT
KEHIFET 3 176 163 0 6 4
LXES 0 3 3 0 2 2
XEH 2 168 157
Z 4L T 1 5 3 0 4 2

47




(27) RA—ka—>

R 255 TR 264 FE
X5 EfTmETE IN#E= HEr= EfTmETE IN¥E=E HfrE
ha t t ha t t
WERE (B 249 2,490 2,250 oo o i)
BERE (BED) 102 1,181 1,069 101 1,140 1,034
REARHhigi & 8 88 76 8 88 76
BeRTH 8 88 76 8 88 76
Fif g T 6 63 58 6 61 55
Ftm 0 2 2 0 1 1
FIiH 2 26 26 2 25 24
S EH 4 35 30 4 35 30
E £ Hhig 5 0 0 0 0 0 0
REM - - - - - -
EX il - - - - - -
EEXAT - - - - - -
T BE BT
£ IMET - - - - - -
F0/K AT - - - - - -
BE A Hhigh 5t 20 170 140 18 149 122
g 20 170 140 18 149 122
3 thh i et 21 245 227 21 277 262
&EmH 4 60 58 5 81 81
% (5 ET 17 185 169 16 196 181
] i dth 4k 51 2 11 11 1 2 2
Bl % T - - - - - -
F/NE T - - - -
NESL:) - - - - - -
EELLAT 1 8 8 - - -
S - - - - -
AR A 1 3 3
B BT Ex At - - - - -
35 s 51 23 364 340 18 251 234
{ENfin BT 5 55 50
=B 0 11 10 0 3 3
2 3k BT 2 38 30 2 38 30
Bk /T 16 260 250 16 210 201
(LI ZRET - - - - - -
I\t Hh i 5 8 128 115 10 165 150
I\ 8 128 115 10 165 150
JK I BT
EdihiEgEt 3 24 21 3 23 18
KIETH 0 0 0
=) 2 19 18 2 18 15
EZEAKHT 1 5 3 1 5 3
TR EE Hhis B 3 12 10| 4 18 15
ASTH
FRET 0 0 0 0 0 0
% R KRHT 3 9 7 3 12 10
& AT 0 0 0 0 2 1
KEF - - - 0 0 0
HEF - - - - - -
A ARF
LT A - - - - - -
HTYHET 0 3 3 0 4 4
K Eih i 5 8 76 71 12 106 100
LXES 6 70 67 10 100 96
XEmH
relA:) 2 6 4 2 6 4
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(31) LWBT
R 255 TR 264 FE
X5 EfTmETE INF#EE HEr= EfTmETE IN¥E=E HE=
ha t t ha t t
HERE (REH) 338 11,900 11,300 330 11,600 11,100
BERE (BED) 2717 10,355 9,862 270 9,701 9,253
REARHhigi & 16 630 599 21 798 758
BEATH 16 630 599 21 798 758
Fif g T 13 456 450 11 392 366
Ftm 2 68 65 2 58 56
FiEkTH 10 370 369 8 320 300
S EH 1 18 16 1 14 10
E 4 Hhigh st 71 2,944 2,902 65 2,754 2,735
EEH 1 45 42 1 42 40
EX A0 63 2,584 2,567 58 2,438 2,431
E AT 2 98 95 2 98 95
T BE BT 0 6 5 0 6 5
£ IMET - - - - - -
F07K ET 5 211 194 4 170 164
BE A Hhigh 5t 29 975 924 26 819 776
BT 29 975 924 26 819 776
3 thh i et 9 311 306 9 301 299
it 7 250 248 7 256 256
&ETH 1 30 29 1 20 20
KIEHT 0 5 5 0 3 3
% 5 HT 1 26 24 1 22 20
] i dth 4k 51 12 501 482 13 461 439
BEEGT 9 407 395 9 400 380
F/NE T - - - - - -
NESL) 0 3 2 - - -
ELF - - - 1 4 4
S - - - - - -
AR A 1 53 50 1 52 50
A Bl ER A+ 1 38 35 1 5 5
35 s 51 12 386 361 12 343 327
{EN fi BT 1 4 3
=B 6 110 100 7 90 86
2 3k BT - - -
R {Z BT 1 35 32 1 30 28
(LI ZRET 4 237 226 4 223 213
I\t Hh i 5 88 3,334 3,067 88 3,124 2,872
I\ 35 1,320 1,254 35 1,242 1,179
Ik JI BT 53 2,014 1,813 53 1,882 1,693
EdihiEgEt 1 14 9 0 2 D
KIETH 0 0 0
=) 1 13 9 0 1 1
EZEAKHT 0 1 0 0 1 1
R EE Hhigi 5 23 706 686 21 618 600
ASH 2 45 45 2 44 44
SRmT 2 40 34 2 37 32
% R KRHT 9 220 212 7 193 186
& AT 2 62 62 2 48 47
K EFt 3 112 111 3 96 95
HEF 1 60 55 1 62 58
AR - - - - - -
LTA - - - 0 0 0
BREH 1 21 21 1 10 10
HIEFYHT 4 146 146 4 128 128
K Hhis 5t 4 98 76 4 89 79
LXES - - - - - -
XKEH 4 98 76 4 89 79
ZJLHr - - -
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(32) Ao

R 255 TR 264 FE
X5 EfTmETE INF#EE HEr= EfTmETE IN¥E=E HfrE
ha t t ha t t
HEAE (B2 1,050 24,800 23.400 1,010 24,200 23,000
BERE (BED) 685 18,647 17,293 661 17,724 16,284
REARHhigi & 319 7,867 7,395 315 7,781 7,081
BEATH 319 7,867 7,395 315 7,781 7,081
Fif g T 78 2,486 2,412 76 2,400 2,275
Ftm 23 750 730 21 700 680
FiEkTH 50 1,636 1,587 50 1,600 1,500
S EH 5 100 95 5 100 95
E 4 Hhigh st 10 239 226 10 237 226
REM 1 3 2 1 3 2
EXhi 3 77 74 3 75 73
E AT 0 1 1 0 1 1
T BE BT 5 135 130 5 135 130
£ IMET - - - - - -
FN/KET 1 23 20 1 23 20
FiE A #his 51 50 1,000 900 45 900 810
BT 50 1,000 900 45 900 810
3 thh i et 45 1,397 1171 45 1,107 1,028
Zhth 38 1,150 980 38 863 840
KIEHT 4 135 89 4 135 89
% (5 ET 3 112 102 3 109 99
Bl ek dh 3k £ 5 89 80 6 83 75
BT 1 11 11 1 10 9
F/NE T 0 2 2 0 2 2
NESL) 0 1 1 - . —
ELF - - - - - -
S 2 40 34 3 39 32
AR A 0 1 1 0 1 1
A Bl ER A+ 2 34 31 2 31 31
35 s 51 7 165 145 6 140 121
{EN fi BT - - ~ - - -
=B - - - - - -
2 3k BT 6 150 131 5 135 17
R {Z BT 1 15 14 1 5 4
(LI ZRET - - - - - -
I\t Hh i 5 102 3,594 3,235 92 3,200 2,880
I\ 100 3,500 3,150 90 3,150 2,835
JKJ I ET 2 94 85 2 50 45
EdihiEgEt 0 11 10 0 1 1
KIETH 0 0 0
=) 0 10 9 0 0 0
EZEAKHT 0 1 1 0 1 1
R EE Hhigi 5 69 1,797 1,717 66 1,874 1,786
ASTH 2 37 37 1 16 16
FRET 6 149 138 6 145 135
% R KRHT 36 889 825 36 985 915
& AT 3 77 77 3 92 90
K EFt 2 34 34 2 33 33
HEF 2 60 55 2 85 79
A ARF - - - - - -
LTA 0 5 5 0 3 3
EKEE#T 0 6 6 - - -
HIEFYHT 18 540 540 16 515 515
K Hhis 5t 0 2 2 0 1 1
LXES 0 2 2 0 1 1
XEmH
ZJLET - - -
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(33) FLyh

R 255 TR 264 FE
X5 EfTmETE INF#EE HEr= EfTmETE IN¥E=E HE=
ha t t ha t t
HERE (REH) 1,510 53,800 51,000 1,510 54,200 51,500
BERE (BED) 1,041 34,194 31,940 1,001 32,756 30,835
REARHhigi & 514 15,784 14,995 520 15,935 15,298
BEARTH 514 15,784 14,995 520 15,935 15,298
FhthigEt 0 0 0 0 0 0
Fimh - - - - - -
Figh - - - -
EEET - - - - - -
E 4 Hhigh st 24 850 772 25 847 772
HET 2 55 50 2 60 57
EXhi 1 20 18 1 12 11
B 4] 6 210 194 6 210 194
T BE T 1 25 20 1 25 20
£ IMET - - - - - -
FOsk BT 15 540 490 15 540 490
FEAHh 15 5 297 11,000 10,000 267 9,798 8,907
g 297 11,000 10,000 267 9,798 8,907
3 thh i et 96 3,362 3,024 90 3,188 2,910
Zhth 7 245 220 6 220 212
&&H 88 3,080 2,770 83 2,935 2,668
% 5 HT 1 37 34 1 33 30
Bl ek dh 3k £ 0 4 3 0 4 3
Bl % T - - - - - -
F/NE T - - - - - -
NESL) - - - - - -
ELF -
S
AR A -
B BT Ex At - - Z - - -
35 s 51 100 3,100 3,069 95 2,945 2,915
{EN fi BT - - - - - -
= ST 0 0 0 0
IR ET 100 3,100 3,069 95 2,945 2,915
B {&HT - ~ - - - -
(LI ZRET - - - - - -
J\ i ET 0 3 3 0 6
J\ KX 0 3 3 0 6
JK I BT
EdihiEgEt 2 35 27 1 10 8
KIETH 1 10 8 1 9 7
=) 1 25 19 0 1 1
R KHET 0 0 0 0 0 0
Bk EE fhigh 5+ 1 5 3 1 5 3
AEh
FRET 0 0 0
% B KRHET 1 5 3
& AT
KEF - - -
HEF - - -
AR - - - - -
LT A - - - 0 0
EKEE#T - - - - -
HIEFYHT
KEHIFET 7 51 44 2 18 14
LXES 0 6 6 0 4 4
XKEH 5 29 26
= LT 2 16 12 2 14 10
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